Quiz answer key

Gnits 34
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. She’s from Canada.

. He’s a little quiet, but very funny.

. It's raining, but it's warm.

. No, she’s not. She’s wearing a suit.
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. funny
smart

. quiet

tall

. handsome
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'm / am wearing
s not / isn’'t / is not wearing
‘re [ are wearing
s not / isn’t / is not raining
’s [ is snowing
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. Are they from Australia?

. Where are you from?

. How old is she?

. Is your first language Spanish? / Is Spanish your
first language?

. Are you Chinese?

. What's he like? / What is he like?
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